NMPAKTUYECKOE 3AHATUE
Ne15. PELUEHUE
NOFAPUOMUYECKUX
YPABHEHUUN C
NMPUMEHEHUWUE CBOUCTB
NIOFTAPUDMA




CBounctBa norapugpma:

og a =1 log x+log, y=log, x-y
log,1=0 logax—k)gayﬂogaf
log L log , x" =p-log, x
Cla 1
log , a =-1 10ga(,,X=C—°10gax
: alogab:b



Nel Bbmcnntb:

1)Ig8+1g25 =
2)1g13-1g130 =
3)3log,2+0.5log,16—-2log, 4 =



Nel Bbmncnuntb:

(pelueHne n OTBETHI)

1)1g8+1g25=1g(8-25)=1g1000 = 3

13 ]
Nl1el3-1e130=lg— =g — = —1]
) lg g g130 glo

3)3log,2+0.5log,16-2log, 4 =

1

=log, 2’ +log,16* —log, 4° =

=log, 8+1log,4-log, 16:10g4%:

=log,2=log,. ZZ%logz 2:%



Ne2 PewunTte ypaBHeHUe:

1)log,12+1log, x =log, 24

2)log, x :llog4 216-2log,10+4log, 3

3
3) log,(x —2)+log,(x +2)=log,(2x—1)



I Ne2 Pewwnte ypaBHeHUe:
QEINERTEY)

1) log, 12 +log, x =log, 24
log, 12x =log, 24
12x =24
xX=2




Ne2 PewunTte ypaBHeHUe:
(pelueHune)

log , x Z;—-10g4216—210g410 +4log , 3

|

log , x =log,216% —log ,10% +log , 3"
log, x =log,6 —log,100 +log, 81

lo x =1lo ﬂ
g 4 g 4 100

486

100
Omeem : x =486

X — x =4.86




Ne2 PewwnTte

log,(x —2)+1log,(x+2)=1log,.(2x —1)

(x—2 >0 (x > 2
O3 : {x+2>0 < <{x>-2 < x (2:+0)
\2x—1>0 \x>0.5

log,(x —2)-(x+2)=1log,(2x —1)
(x—2)-(x+2)=2x—1

x° —4=2x—1

x> —2x—3=0
D=(—2)y —-4-(—-3)=4+12=16

2+ 4 2 —4
— :3 x2 — —
2 2

x, € O3, x, & O3

Omeem . x = 3.

X, —1



| TpeHupoBOYHbIE YyNpPaXHEHUS :

1) log,3+log, x =log, 4 +log, 6;

2)log 5 x—log 53 =log 5 15—-log ;- 9;
3) log, x =2log, 6 —log, 12;

4) log, (x ™ 3)"" log, (x = 3) =log (2x = 1)’




